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— 77910 RINR NTOI92 N2 NOTW 0D
If you place 712 among them, they can all be derived

OVERVIEW

The X713 stated that if the 770 would have written 712 and any one of the other
three mMaR, we could derive from these two, the remaining N2aX (with the possible
exception of 17p). >"wA explains at length how each of the m2aX can be derived from
the various combinations of 712 with another 2X. This Md0IN questions some of
s""w7 assumptions, and also discusses some difficulties in deriving certain M2y
from the mw: 7¥ of J1X» 7M 2.

= UN) 9921 NONOR JYT 99019 N v9aY Hn

That which >''w1 explained, that 32 can be derived from 712 and @R with a mwn 7x -
- 199N PRY 172 1Y AN 192 DIINY NTPIN 19Y WNRY N1 N9 394

For when you will challenge that jw cannot be derived from WX since WX is a
N7y to consume all items, whether they are fit to be consumed by fire (like

wood) or whether they are not fit to be consumed by fire (like stones) -
= 19 YN NINX DIINT NTYIN PRV YW 9IRN

However by 1w, it is a n7¥ 2 to consume only items which are fit for w; we will
reply that r°31° 7123, etc. MHOIN comments on this statement of " that 1 is not NT¥M to consume
something which is 7% X7 1°X.

mooIn asks:
= Y2 NN PNV JNOYUN NY1 v

And there is a difficulty with s>"w7 presumption, for we do not find by 1w

anything which is not 7% "IN -
= PN ANIN PINT 112 19PT DTN NN JWT NTIIN N KD ND NS PRV 927 AUON ONT

For if the animal ate something which is 779 »1X" 78 it is not (even) a 7790 of Jw,
but rather it is a 77910 of 7P, since the animal derives no pleasure from the
damage it caused. Why does >"wA say that 1@ is a n79 only for 75 "w1?!!

mooIn continues with this question:
= NS PPN GN 2NNNT YWRN 9% 13Y DIV HNOWN IN)

! The xm3 says that we can derive the aX of @ (if the 7710 would not have written it) from w&1 712. The characteristic
of 1w is that np°11% X317 w5 this is what the 770 was 2nn by Jw. If there is no 7p°17% AX37 then it is not 7w but 1p.
How can we say that 7w cannot be derived from WX, since W is not 72 X7 XY 791, when there is no such concept
of 1w consuming something which is 77 *187 1R?!
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And (even) if somehow we will find an 7% *1X1 X by 7w, we can derive from @K,

that 1w should be 2% even if it is IR K. There is no reason why we cannot derive it
from wx!”

moon, therefore disagrees with *"wA, that 2 is derived from a Mwn 7% from WX 712:
- AYINY WRM IN *NITT NITDA SNN 91 JWT AN

And it seems that also 3% can be derived with a X1>77 X3»5, or it can be derived
directly from wR alone without including M2 at all.

mooin offers a response on behalf of *"w=:
= WA NOY RDT NI 139999 999U DIVNPN WIVAY 99D W 111919

However one can say according to >''w1 that we do indeed present a challenge

(even though) it is not applicable by 2. We can ask X712 R9R 21982 N79% PRW 12 RN
2, even though 7% "X 11°K is not applicable to jw. However the reality is that practically there is
no 211 of 7% "1 1K by w.* mooIn offers a support to this contention -

- 195122 NN J9Y NYNDT D) NYNI 1aY 222 (x,n0 9710p%) T2INNA 599 NN INNDT

For the X723 presents a similar challenge in 21777 P79 concerning a slave and a
woman. The X713 there is attempting to derive (from 7wX) that an 72y is M7Y2 209.
The X723 challenges this and asks, why is an m17v2 9100 WK, because there is no

7997 by an 7wX (however an [2115] 72v does have 79°»). Even though the concept of 72" is not
at all applicable by a woman, nevertheless it is used as a &27°9, because ultimately there is no
721 by a woman. Similarly here there is no 777 *1X7 1°R by 1w, even though it is not applicable.

mMooIn continues to challenge >"wA:
= DTN 19)2 97 NN PRY 9297 791 PRY NI M3 WY NN IN

However that which >"?v1 explained (concerning deriving @ through a mwn 7x
from wXY 13; that after we ask that 1 is not a 77 "X KW 1272 79 [as opposed to
wx], we can respond that) =92 will prove that 7% "IR7 WRWY 9M WK, is no
hindrance to be 21, for 712 is (also) not a ¥ X" WPRY 227> 7Y, for instance a
person [or o°25] (and nevertheless M2 is 21 for 12 "X (an animal), similarly v will be 21 for

> We are discussing what would be if the 770 did not write 7. The X713 will maintain that if J¥ is not written, then
we will derive from WX (and 712) that any damage that 12 does, the owner will be liable for it, whether it is "X7 or
IRT K, just like wR. There are no preset rules yet by jw; the rules are whatever we derive from (7121) WX.

3 A RPTT X39O (see 10102 ,177121 7"'7 °"w) in this case would be as follows; first we derive 1w from 712, then when the
argument is posed that M2 is P17 \n>wY n2°nn; the response is that 1210 wR. We stop there, for (according to n1voMN)
there is nothing to challenge the °>1n of wX. See ‘Thinking it over # 1.

* The %270 would be that the p>m of WX has a greater scope than the I of 1w. By WX it can damage everything even
2 "MR1WR; however by 7w a damage which is 72 “X1 7R is not within its scope. 1 is a limited °, and should
perhaps be Mws.
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2 "IX7). °"w1 considers DR to be 17 "X WX for 712, since the M2 Hva is w9 if a person was
killed by falling into his ™2.

nooIn takes issue with "W that an 27X is considered 1% »1X7 11°X for a 712;
= PPN NDY NN NIN DINX 909 XIT NN NYP

This is difficult to accept (that o7& is 2% "X7 1R), firstly because the ™27 Hva is
not exempt by a person unless the person dies, but he is not exempt from
payment if the person was damaged by the 112. How can we say that 07X is 127 *1%1 1K ?!

mooIn poses an additional question concerning 7127 "X 1K QTN:
= PRV VO ) YN XM NI PR IWN DTN 9097 DIVN IVUN NI

And furthermore just because 7121 is exempt from a person, is that considered
that the person is X9 1°R; is not WX exempt from paying for hidden objects and
nevertheless WX is considered a 177 “1X1% 711 for these very items (wood) if they are not 1! This
would indicate that M5 or 2>°11 do not determine whether an item is »IX7 or X7 1°K. Rather "R"
or "X1 11X should be determined if it is natural (or not) to receive this type of damage. 07X
should be considered M2 "X,

mooin offers an additional proof that 07X is considered 1127 "X":
- 591331 99WA 929N 32 (3,0 97 MPOT TV

And moreover, for later concerning the X927 of 212 over 912, the X3 -
= 9922 %NS 1PN 9122 095 YPTI DY 2NNT NN 2299 RN PN

Cannot find anything which is not »%9 to be damaged in a 912, according to >''9

who maintains that there is a liability for damages to utensils in a "13; however

according to >"w1 -
- DN 1P7 NNOWN XM

We can find an 7125 »%1 1°X; and that is a7R!

mooIn offers his view:
= N92Ma MY INIT 912D NI 2IWN 1) DTIRT AN NIN

It therefore seems, however, that a person is considered fit to be damaged by a
113, for he is fit to die on account of the (stale) air in the 712.

> The Xn™"2 mentions there various M of M over 2. The X3 asks why we do not mention the X that Mw
is 2»n for @°25 and M1 is Mwo. The X713 answered that this ¥n>92 is according to *" who maintains that 112 is 2»n for
2°95. The X3 continues to ask from the 85°0 of the Xn»12 where it mentions the X117 of WX over M1 that WX is 7y
D19KR? even a 112 IR1 IR 127, but 712 is not a 7w for a 7% MR WKW 127 (which refers to 2°92). If however, the Xn»12
follows the opinion of 7717 " then 712 is a 7% "X1 KXW 1277 9. From this X3 we can derive that a) 0°93 is a 127
7125 "R IRY, and b) that 27X is not considered a 7122 "1 R 127 (for otherwise the X3 could have mentioned
that the 712 "1X1 1R according to *" is 7R). See "W "Jnn.
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mooIN anticipates a question. If we assume that 177 »X1 R does not mean that you are M» for it;
but rather that under natural circumstances it will not be damaged by this 1, then seemingly
0°%5 should be considered 77 "1%7 by ™2, Mo0IN responds:

- X921 1179 NP 9T MNT PN )Py 199 29wn DdYs Yax

However the X3 later considers 299> to be "IX7 1°K by 713; the reason is that the

air of the 72 causes no damage to the o°%3, as opposed to the 07X, as mentioned
previously, who can die from the suffocating air in the 712.

MmooIN is not satisfied:
= (%197 1P 7991 P99 91D 9INTI NDANA WPN NN DT 99 by N

And even though that new 2°9> can burst on account of the air in the 112 as the
X3 states in the end of 79577 2923 so o°%> should be considered 77 XA -

mdoINn responds that -
- N92N2 OYYPIPHN PRY D90 VI DIPN YN

Nevertheless since there are 2°%> who do not spoil on account of the air, it is

considered 1 "1 P for those 073.” This concludes the discussion concerning the derivation of
W from WX 712 through a Mws 7X.

In Summation: >"¥1 maintains that J¥ is derived from a full MW 7% from WX 712; for WX is a 7917
even for 7% "X7X; however 1w and M2 (by 27R) are not MK WPRW? 7%, MOOIN maintains that
there is no 7% X7 "X by 1w and 27X is "Y1 by M2 (it is only 0°%3 that are 712% X1 11°K). 7w can be
derived from a X177 8399 or from WX alone.

Mmoo has a different question:
= TN TN 91219 YN NN 1271 9IRN ON)

And if you will say; and how can you derive @ from =12 and one of the others

with a mw: 7¥; we can refute it by arguing, do you know -
= N9IP 91792 2991 NN NOT YN 9INRN 12 29991 9NN NI PN 1Y 7IONRY NN

why 712 and 93°8% 717 are 21, because there is no other force intermingled in
them (they do the damage on their own), can you say that by wx where there is
another force (the wind) intermingled in him — and therefore WX should not be
2>°m1; for 12 27wn IR 1D is a leniency (that should cause a Mwo).

MPOIN continues to prove that 12 2y IAX 113 is indeed a x7p.2

%x,> 77. See previous footnote # 5.
7 See “Thinking it over’ # 2.
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=932 29191 9NN NI PPN 19Y A 119 INYMI 13990 NAN 23) TINDA 729991
For the X713 shortly asks (concerning deriving 333 WXJ2 7100 IRWRY 11990 112N
AW MR? MR M2 3PN from M2); why is 21 712 because there is no anN 1>
12 2979, however by n"0OX there is a 12 27y» NXR 113 (the wind), therefore it cannot be derived

from 2. It is evident from that X773 that 12 27w» TnR 113 is a X?p. The question remains, how
can we derive WX through a mw: 7¢ from 787 771 713, when WX has a X9 of 12 27wn 0K n13?

mooIn answers that the X1 (or X217) of 12 27yn K 12 is relative:
- 9‘1hN N9 N9 AYYIV 9137 99Y v

And one can say; that indeed 912 which was formed without a “nx 1> -
- %1339 9029 NN 1099903 17910 RYY 13599 13ANN N
Is more =1 than 1550 1128, which did not damage while they were moving
(with the wind), but rather after they came to a rest -
- 9NN NI 21 DY NIONX 912 WY XD
And they did not become a 712 only through a 91K 12 (the wind, not the person); in

this distinction (between 712 and »n"OX), a MR M2 is a “wa -
=197 RIN 7o) 1991 1PRY 9130 910 9NN NI 79 DY 1NN DI THNVY UN YaN

However, wR, which (is not formed 71X 15 *"v, but rather) travels and damages
while it moves through a 9K 112, is more 2121 than 912, which does not travel,

and it only causes damage in its place. wx (which is not formed anx 13 >"v) is more NN
than M2 (on account of the 12 27y» ANk 113, which allows WX to do damage even at a distance),
therefore we can derive WX from (7187 711) 2. However n"oX which were formed anX 112 "y
(but do not damage 1R 112 >"v) are more lenient than 712.

mdoIN anticipates a difficulty and resolves it:
- 2550 13 299N INNR N 1Y NN YN 1IN0 9INPT XD

And that which the X713 states shortly'® that wx will prove that even when

there is a 12 27» 9K 112 it is 2997, Therefore »"oX can also be 2»n. However, according
to the distinction that N0 just made between X 172 by n™0OR (which is a X91?), and 2R 11> by
WX (which is a X7217), what is the 7°210 from wX?!

¥ It may seem that it is a X1, as is evident from the 7wn which states P>179) 72°9 1997w 71 71 89 (referring to WX as
well) 71277 °7772; which would seem to make the 12 27w 9nX 172 which causes it to be P121 72°% 1977 a X217, NOOIN
here currently negates this idea.

? The person who dug the pit is certainly not a 7nX 11 (he is the perpetrator and therefore 2>1).

' Someone tripped over them.

' »"yox have the same limitation of <12 that they damage only in their place, and should be even less liable than 112,
for they were formed through a 12 27y» 7nX 112. Therefore they cannot be derived from 712.

12 X,1q7; concerning the % of 117°°17 N2 WP 01 Y oK, from a Mwn 7¥ of WRY 2.

" This is in response to the question 12 277 X 72 PRY N7 2.
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mooIn responds:
=932 29991 9NN NOT 2) JY N IWIY9 9N

This is the explanation of the phrase "2 27yn X 11> PW 7210 WX'; that even

though there is a 299W% 91X 172 in the WX, so seemingly we cannot attribute the damage of

the WX directly to the owner -
= Py0n 01U 2911 990 NN DY LY 19N 1Y 22UN)

But nevertheless it is considered as if the owner of the fire himself does all the

damage and he is liable as if it were his arrows (for which he is directly responsible),
similarly —
=932 291911 9NN NIT 23 HY 4N 1) NIN

Here too by n"10X even though that there is a 12 29w% 91K 12 (the wind) -
- “mx N XY NN 9120 NN AYIY MKV TN D2aIVN

It should be considered as if the owner himself made this =12 (of »"10X) without
a mKX 2.

Mmoo offers an alternate explanation of the 12 2My» IR 112 19W 77210 WK:
= 4% 90N D257 2 ANYN NN NI 12 YR 119 75997 1391 M) ONX

Or you may also say that the question that m901n is asking, is indeed what the
X3 subsequently challenges (with the question of P> 79°2 1377 PW WKL 77,

meaning) that by wX the 12 27 91X 12 is more stringent than the 12 277wn 7R 115 of
n"1ox, for by WX -
- nwn) 139999 13AN3 19 PRY N1 PININY D) TN DT 31 Yy

Through the 12 27yn AnX 12, the fire travels and damages at a distance, which
this is not so by %'"YeR. This concludes the discussion concerning deriving WX from T8» Tm M.

In summation: WX can be derived from TJ1&»n 7M 72 (even though WX has a 12 27wn NXR 12),

" It would seem that MmooIn is referring to the view of 7M1 that damage caused by one’s fire is equivalent to
damage caused by shooting an arrow. The fact that >" equates them, proves that the 12 271¥» 1R 12 (by WX) does not
diminish the person’s direct association with the fire, and it is considered as if he kindled his neighbor’s property
directly (as it is by 1°x1). Similarly by n"0X it is considered as if the owner himself placed them in their final resting
place, even though it reached there through a 12 27y» 71X 12. The meaning of 210 WX is (not that we are deriving
"R from WX but rather) that WX proves that a 71X 115 is considered as if the person did it himself directly (it
removes the X37°9 from 712).

1% See “Thinking it over # 3.

' See *"92 who explains this as follows. In the 12 27wn 91X 12 X that there is by M3, there is a X717 (that it can only
damage pn2) and a XM (that it was accomplished solely by the ™27 5v3). Concerning the 12 27w JnX 113 that
there is by WX there is (also) a X7 (that something else is causing the damage) and a X that it can damage at a
distance). However concerning the 12 2719» 2n& 112 by »"1oK there are only both n?17 (something else is causing the
damage and it damages (only) in its place). Therefore the different N M NP of WY 712 are required (to cancel out
each other) in this mw:a 7¥, and be n"10R 2°mn. See ‘Thinking it over’ # 4.
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because the 2"nR2 by WX is a X over Ma for it allows it to be P M? P11, however the 2"nR
by n"oR is a X7 compared to 2. There are two ways to understand the i°21n WX.

mMooIn has a different question:
=99 199 PYYN 1OV 9912 UKD N1 912 UND 1NDID INN 1351) 9INRN ON)

And if you will say; how can we derive all the other max (such as 237 1v) from

T12Y WNR; 721 WK are 211 since the action of the owner caused the damage (he dug
the pit and kindled the fire) —

Mmoo explains why WX M2 are considered 17 173 Ywyn:
= YNN PII1IY 1D 109 1PYUYN 93 YN) 15393090 913 *2) 171):‘,75 U912

As the X711 explains later concerning a ‘rolling pit’ that we cannot derive it
directly from T3, since by M2 it is 17 17 MWy however by 232nna M2 it was
caused by the 7n721 O7X *237. We see that M2 is 12 M7 »Ywyn and it is a X,

Similarly by wx it is also 12 193 »wy» for he kindled the fire. How can we derive
23 1w (where the owner is passive) from 121 wx?!

Mo0IN answers:
= 199501 NHNY 199397 199 PYYN YN 2PUN RIT 9910 U

And one can say; that wX is not considered 1> 173 vwy» for the wind assisted

him in causing the damage. 12 773 Wyn means that the owner caused the damage exclusively.
This applies to 712 but not to wX. This concludes the discussion concerning deriving the n1ax
from 7121 WX.

In Summation: WX is not considered 17 %73 1*wyn for the wind assists in the damage.

mooIn asks a similar question:
=99 9990 PYYN 1Y DN AT N1 INN 2351 39) DTINI 9121 9NN ON)

And if you will say how can we derive the other max from 27Xy 13; by 278) 712
it is Y2 17272 WP (as opposed to WRY 737 ,1w where it is 12 1273 YRy PR)?!

mooIN answers:
= 2907 DMNN NINRY NN NN I J99) IN 191\’)’ DINY 9920 INNRT Y YN

And one can say; that we derive the other M2ax from 912 and a sleeping person

17
X,197.
'8 The case there is where a person placed 210K in the 1";71 and people kicked it as they walked and it rolled from
place to place until it rested and then caused damage, by someone tripping on it.
" See x,7177. See “Thinking it over’ # 5.
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who causes damage or a person who falls from the roof through an unusually
strong wind, where the person is 291 (in both cases) -

= (8,319 97) 23V PID 9102 19PY MINTD
as the X711 states later in the end of the second 92 (concerning 337 7 %91). In both

these cases we cannot consider the P1»7 07X as 12 173 vwyn. This concludes the discussion
concerning deriving the MaxR from 7R M2.

In Summation: there are cases of P>1277 07X where it is not considered 17 173 Pwyn.

MooIN continues to ask:
= NNN 1PN 1Y DI 912D N1 INN 551 DX 91219 9NN ON)

And if you will say; how can we derive the other max (such as w1 wX) from =12

537; for ®3m1 712 are 211 since the damage is frequent. mooin supports his view that
M2 is XD P -

- 980 YPN 13 %3N Pyapse
For later the X773 considers =12 as "3 3217,

Mo0IN answers:
= DYINNM 29V NN IPTIN 912 PNRT 9D YN

And one can say; that 912 is not more »13» 3?1577 than the other max -
$199N) IM9Y 9922 MYY HNN XINMIN 92T NUN 290 1197 9INP N9

And the X3 later did not mean that 712 is "X jp1°77 more than the other Max, but
rather the X723 wanted to mention one X927 which is the same by 712, and a

wall, and a tree. Therefore we can derive the Max from 93 712 since 712 is no more M¥M P7
than the other max.

SUMMARY

MooIN maintains that there is no 7% "X7 X by 1w and 27X is "X by M2 (it is only
0°%3 that are 7127 "IX111°R). 7 can be derived from a X1°77 X379 or from WX alone.

WX can be derived from T°Xn 7M1 712 (even though WX has a 12 2Myn IR 12),
because the 2"nR2 by WX is a X1 over M2 for it allows it to be PITM? PoIn;
however the 2"nX> (of creating the p*1n) by n"OX is a X?)p compared to 2. WX is
not considered 17 173 1Pwyn for the wind assists in the damage.

There are cases of P17 07X where it is not considered 172 173 Ywyn.

72 1S no more "MXM P17 than the other M2ax.

2037 7. The X there is discussing the case of a wall or a tree that fell into the 1"711 and caused damage (after the
allotted time to remove them, passed). This is derived from the mwit 7% of our 71wn.
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THINKING IT OVER

1. mdoIn says that we can derive @ either through a X177 X375 from 7121 WX or
directly from wx.*' The question however is why does Mmoo need a X177 X399
when we can derive @ directly from WX itself; and what difference is there how we
derive it?*

2. How can we explain that 295 is 2% "1 X, according to »xmw who
maintains that M2 is Wan% w"21 19275 20?1

3. mooNn explains25 (in the first y17°n) that the meaning of 27¥7 X 112 12W 7210 WX
13, is that even though there is a 71X 1> nevertheless it is considered as vxm. It
would be difficult to understand (according to this answer) what the X723 there
continues that p°13121 72°% 1977 12w WXL 11; since we are only proving from WX that
IR 112 does not diminish one’s direct connection (but not that we are deriving
n"ox from wx).%

4. mooin explains®’ (in the 1"X) that the X37°0 of P19 T°% 1377 W WK 7 means
that the "nX 15 of WX is a XA (over n"1OX). How does the X773 counter this by
responding 310 M2?! Seemingly by both of them (7121 wX) there is no
disadvantage of 12 271v7 71X 113 (in their creation as a °1») as there is by n"ox!*

5. moon considers damage done by an 1 07X as 2 173 Pwyn PR The 20 by 12
is only if he lied down next to the 0°22;* this should be considered 17 173 Ywyn!’!

2 See footnote # 3.

22 See 'm v v O WA MMAT.
2 See footnote # 7.

# See q"w "nn.

3 See footnotes # 14&15.

% See oIk 7"7 0P MIX 1" WL
7 See footnote # 16.

2 See "1 7"7 1"0p MR 1" WM L3 AR 7T 1R MK 710,77 0R 0.
¥ See footnote # 19.

30 See 112 1" &, 7 MDOIMN.

31 See vop MR 1" WITM 7"MK.
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